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PRODOTTI NOTEVOLI

PRODOTTO DELLA SOMMA DI DUE MONOMI PER LA LORO DIFFERENZA

I, (a-2b)(a+2b)=a® - 4b’ (%a+3bj(—%a+3bj:9b2—%a2
2. (2a+1)(2a-1)=4a*-1 (-3x-Yy) (-3x+y)=9x* - y?

3. (2x-4y) (-2x-4y)=16Yy* - 4%® (2-x)(x+2)=4-x

4 (=x=y)(-x+y)=x* -y’ (- =y?) (¢ -y)=-x*+y*

5. (-3x-2y)(3x-2y)=4y* -9%° (x-01) (01+ x)=x2—ﬁ

6. (—-a-b)(a-b)(a®+b’)=b*-a* (2Xx" + y?) (-2x" + y®) = —4x*" + y°

7. (@ -2)(a"+2)=a’ -4 (X" =1) (X" +1) =Xt -1

8. (1_an)(an +1):1_a2n (X2n+3_ym)(x2n+3+ym):X4n+6_y2m
9. (2am_b3n)(2am+b3n):4a2m_b6n (Xn_y) (_Xn_y):_x2n+y2

10 (an—m_l_a) (an—m_a):aZn—Zm_aZ
11. (a+b) (a-b)(a%+b?)(a* +b*)=(a-b?) (a® +b?) (a* +b*) =(a* -b*) (a* +b*) =a°® - b°
12. (X2 +2) (X2 =2) (x* +4) (& +16) = (x* = 4) (x* +4) (X +16) = (x* —16) (x® +16) = x* - 256

13. (—Ex—Zj(Ex—Zj(éx2+4j :(—1x2+4j(£x2+4j = —ix4+16
3 3 9 9 9 81

4. [(a-b)(a+b)]?=(a?-b?)?=a*-2a’b? +b

15. [(x=3y) (x+3y)]*=(x*-9y?)?=x*-18x*y* +81y*

16. (a-2)°(a+2)*=(a®-4)*>=a"-8a"+16

17. [(X* —3ax®) (x* +3ax?)]? =(x* -9a®x*)* =x¥ —18a*x° + 81a*x®

2 2
18. (_l_asj[_}_i_asj =(1_a10j =i_ga10+azo
3 3 9 81 9

19 G =y (=2 —y)2 = (=x* + y?)2 =58 = 2x*y2 + y*
20, [X+(X*-D][x-(X¥*-D]=xX-(X¥-1D*=x-(x*-2x*+1)=-x"+x"-1
21. [(x+y)+4][(x+y)-4]=x"+2xy+y* -16
2. [¥+(y-2)][X-(y-2)]=x"-(y'-2y°z+2?)=x'-y" +2y*z- 7
23 (C+y-2) R+ +Z) = (X +Y )P - =X +23 Y +y -7
4. (X*+3xy-2°)(X¥* -3xy+7°) =x'-(3xy-22)’=x*-9x°y* +6xyz* - 7*
2. (X*+3xy-2°)(X* -3xy-2°) = (X¥* -2°) -9x°y* =x" -2x* 22 + Z* - 9x*y?
26. (X*+3xy+272°)(X¥*-3xy-27°) =x'-(3xy+2?)’=x*-9x°y* -6xyz2° - 7*
27, (1-3x+y)(1+3x-y)=1-(3x—-y)*=1-9x* + 6Xy - y°
8. (a®-a+b®)(a®*+a-b*)=a*-(a-b*)*=a"-a*+2ab’>-b*

(_2 _bj(_b 2 j__bz_(z_ jz__b2_4 4
29. “+a-— —+--a|=-——-|=-a| =-—-—-+—-a-a

3 2 2 3 4 3

3. (a+a*+a’)(a*-a*+a)=(a’+a)y’-a*=a*+2a*+a’-a'=a*+a*+a’
3. [a+(b-c)][a-(b-c)]=a’-(b-c)*=a®-(b*-2bc+c?)=a’-b*+2bc-c°
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32. [(a®-3c)+1][(a®-3c)-1]=(a*-3c)*-1=a*-6a’c+9c* -1

ESPRESSIONI

3. 3(a?+2b) (a® - 2b) - 2 (2a2 + 3b) (2a2 - 3b) = 3 (a* - 4b?) — 2 (4a* — 9b?) =
=3a’ -12b* - 8a* +18 b’ = -5a* + 6b°

3. (02x-y®) (0,2x + y*) — (01x + 3y®) (0,1x - 3y*) =0,04 x* — y® — (0,01x* - 9y®) =
=0,04 x* - y°* - 0,01x*> +9y® =0,03 x* + 8Yy°

3. (2ab+3a’b®) (2ab-3a’b’) : (-3ab®) = (4a’°b* - 9a’b®): (-3ab?) :—ga+3a3b4

3. (3a’b? — 6a*h®): (-3a’b?) ({1+ 2ab) = (-1+ 2ab) (1+ 2ab) = 4a2b? -1

37 (1-3x°)[(4x3 +12x°):(-4x°)] = (1-3x*) (-1-3x*) =9x* -1

3. (2a-5b)(2a+5b) +(a-3b)? +(a+4b) (-a+4b) =
=4a® - 25b° + a® - 6ab + 9b® — a® + 16b* = 4a° - 6ab

39. (Xx+2y)(x-2y)—-(2x-3y)*+(-x—-5y)* =
=X —4y* —4x* +12xy -9y + X* +10xy + 25y* = -2x* + 22xy +12y®

4. (-1 @+a’)-(a®-2)+[(a+1)(a-1)]*-(a*-2)(a*+2) =
=a'-1-(a'-4a®+4)+(a®-1)?*-(a*-4) =
=a'-1-a'+4a’-4+a*'-2a°+1-a*+4=2a

3 2

41. az(x—l)z+(ax+3)(3—ax)+2x(a—§j -(a-3)*=
:a2(x2—2x+1)—a2x2+9+2x(a2—3a+%j—(a2—6a+9):
:a2x2—2a2x+a2—a2x2+9+2a2x—6ax+%x—a2+6a—9=%x—6ax+6a

42. 9x2(:—13y—x2j(§y+x2j+(3x3+2xy)2—5(—xy)2=
=9x2(éy2—x4j+9x6+12x4y+4x2y2—5(x2y2):
=Xy —OxP +Ox® +12x 'y +4xPy? -5 x*y? =12x"y

1) 1
4. [x* (3x+4)2:(—2x)3+2x]:(—3x)2—x(—zj t3°

=[x* (9%x* + 24 x +16) : (-8%°) + 2x] : (9%°) —x(—:—; +:_13=

Wik

=[(9x° + 24 x° +16X*) : (-8X°) + 2x] : (9%%) +% X +
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44.

N

45.

46.

47.

48.

49.

50.

1

={—gx3—3x2—2x+2x}:(9x2)+}x+—:—£x— +
8 8 3 8

|

x+£=0
3

Wl

{(aS _at - a16):[—% a8j " 2} =2 (-a)*]? - (-a%)? (a* + 2) =

=(-2+2a*+2a°+2)°:(-2a*)’ -a*(a*+2) =
=(-1-a*)Y-a-2a'=1+2a*+a’-a®-2a'=1

[a(a-b)-b(b-a)]>-2(a-b)?(a+b)?+a(a2-2b?)=

=(a®-ab-b*+ab)* -2(a’-b*)*+a* -2a’b®> =(a®* -b*)* -2 (a* -b*)* + a* - 2a’b?

=—-(a®-b*)* +a* -2a’b* =-a’ + 2a’°b” - b* + a* - 2a’b®> = -b*

(X +x+1) (X -x+1)-x*(x*+1) =
=X+ - -xt=-x=x'+2x +1-2x - x* =1

{(3X2 + Xy - x2) (3x° —xy—xz):(3x2)+%(y—z)(y+ z)}:(—x) =

={(9x4—6x3z+x222—x2y2):(3x2)+%(y2—22)}:(—x)=
1 1 1 1
=3 =2Xxz+ZZ -Z Yy + 2y =72 i (-X)=-3x+ 2z
{ 3 3V T3V T3 }( )
[(3a - 2b)? - (2b +9a?)? +12ab] : [(3a - 2b) (3a + 2b) + 4b?] =

=(9a® - 12ab + 4b® - 4b* — 36a°b — 81a* + 12ab) : (9a® - 4b” + 4b?) =

=(9a® - 36a’b - 81a*):(9a’) =1-4b - 9a”

(I-x-y+x)A-x+xX+y)+(2x* -1) (2x* +1) + 2x (1 + x)* =
=(1-Xx+X)2 -y  +4x" -1+ 2x(1+2x+ x*) =

=14+ X+ X —2Xx 42X =23 - YR 4+ AX - 142X+ 42+ 23 =5X + TXP - P

By (x=—y)?+(x-y)(x+y)(2x-y)-(x-2y) (x+2y)(2x-y) =
=3y (X —2xy + y?) + (X —y?) (2x - y) = (xX* —4y?) (2x - y) =

=3x7y —6xy* +3y’ + X (2x - y) — Y (2x - y) - X*(2x - y) + 4 y*(2x - y)=
=3x°y—6Xy*+3Yy® +3y*(2x-y)=3xy-6xy* +3y® +6xy* - 3y’ =3xy

CUBO DI UN BINOMIO

51.

52.

53.
54.

55.

()]

(2a+1)°=8a’ +12a” +1+ 6a

3
(2x—%yj =8~y S xy - Ay (ab+1)° =a’b® + 3ab? + 3ab +1

[(aXS _ X2) (aXS + X2)]3 = (aZXG _ X4)3 = aGXlS _3a4xl6 +3a2xl4 _ X12
[A-x3) 1+ x3)]PP=(1-x°)°=1-3x®>+3x* -x*

3 3
(a—ibj(a+lbj =(a2—1b2j —ab-tatpr+ Latpt - Loy
3 3 9 3 27 729

(2a+b)® =8a® +12a’b + b® + 6ab’

6
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2 , 3 .\(2 4 636412486274 729
56. — X - — — - — =—X + — X
H:ﬂ yj[s H [9 47 j 729 3 XY Ty a o Y

5. [(A+ X)) =1+3x +3x° +x°)* =
Z1+9x° +9 X2+ xX8+6xX3+6X° +6X° +18X° +6X2 +6 X° =
=1+15xX° +15 X2 + x® +6X° +24 xX° +6 x°

58. [(2-x*)°)P=(8-12x*+6x°-x°)* =
=64 +144x°% +36X2 + x® —192 x> + 96X° —16x° —144X° + 24x*2 - 12X" =
=64 + 240x° + 60X + x® —192 x® —-160x° + —12x®

5. (a®-1)°(a®+1)°=(a°-1)°=a®-3a*+3a°-1

ESPRESSIONI

60. (x—-a)’-(2x+a)’+(2a-x)°=
=x*-3ax*+3a’x-a*-8x*-12ax* -6a’* x—-a*+8a*-12a’x+6ax’* - x* =
=-9ax? -15a’x +6a°® -8x°

61. (a-3b)? +(2a+3b)® + (a- 2b) (a® + b?) =
za®-9a’b+27ab®> -27b® +8a®* +36a*b+54ab* +27b* +a®* +ab* - 2a’b-2b® =
=10a® + 25a’°b + 82ab* - 2b®

62. (2a+3y)’-(2a-3y)®-54y°=
8a’+36a’y+54ay* +27y° -8a’+36a°y-54ay* + 27y’ -54y* =72a’y

63. (a+3)°+2(a*+3)(a-3)+(a—-3)°=
=a’+9a°+27a+27+2(a*-3a°+3a-9)+a*-9a°+27a-27=
=2a’+54a+2a’-6a” +6a-18 =4a’ - 6a” + 60a-18

3
64. (%—xj -(2x* -1 - (x-2)°* (x+2)?° =
=1 §x +§x -x° = (8x° —12x* +6x* -1) = (xX* = 4)° =
8 4 2

_1 3 2 3 4 6 6 4 2 6 4 2 —
_§_ZX +§x - X =8X +12xX" - 6Xx°+1 —-x +12X" —48x" + 64 =
:5_21—&)( +51 —10)(6

8 4



